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Please make sure that the printed pages in this
question-paper are 8 in number and it contains
38 questions.

® yo7.qF # ZMeT &Y @ GX 07 T FE TR B O
I gitcel & JE9-g% T [0 |

The Code No. on the right side of the question-paper
should be written by the candidate on the front page
of the answer-book.
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|

Before beginning to answer a question, its Serial
Number must be written.
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o IJTT-GRae & &1 H @il g1/ 9+ 7 Bls/

Don’t leave blank page/ pages in your answer-book.

° FTLQRaH & GfdRed &F o dic 7@ [ o
STTI9IHEAIAR &1 for@ §iit for@r So 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TI1eTeff STUAT U To FIT-UF 9T 39T fard |

Candidates must write their Roll Number on the
question-paper.

® FYFT 791 # T &7 & i 78 GIAed & o [ 79797
7 et & q#ar%m%iwwaﬁaﬁs‘%ﬁwa?g
721 frar aram |

Before answering the questions, ensure that you
have been supplied the correct and complete
question-paper, no claim in this regard, will be
entertained after examination.

T : (i) TH I Ffq]
Attempt all questions.
(i) FE% FIT & 3% IaF G 179 T 8l
Marks are alloted against each question.
(iii) F¥I & TR I SHGER & Mg/
Answer the questions according to their
marks.

2945



2945

(3) 2945

. R HEf &1 Srasgendd (STURYA 7o) S| 6

State some of the essentials of retail strategy.
AT
OR
Rea @iy (sgecan) @7 & ?
What is Retail Strategy ?
el e & T STTasEdar § 7 6
What is the need for planning of inventory ?
AT
OR
Sl Y T 8 7 HIs dT Sasd faiad|

What is inventory management ? Write any

three objectives.

. 3-REAT & SUAEATST ® BiE AT @H A3 3
Write any three benefits of E-Retailing to
consumers.

RET Srgeem 1 & ? 3

What is Retail Research ?

. gt g faty &t fade Sifed | 3

Discuss the method of inventory control.
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. Zwagt frge= fafYy &1 qew gansu| 3

Discuss the importance of inventory control

system.

. SCM (9@TE o J9ee) & 15 dt7 a0 fafad| 3

Write any three steps involved in Supply Chain
Management (SCM).

TS A Ao (SCM) T & 7 3

What is Supply Chain Management (SCM) ?

. S-HIHCT T8 ? 1
What is E-Marketing ?
-HIHIST & 7Cs H ¥ &E 2Cs fwi@d| 1
Write any 2Cs out of 7Cs of E-Marketing.
SH-HIHICT BT BIE TF @9 [ | 1

Write any one benefit of Tele-Marketing.

SAFCIE Y (EC) FTE ? 1

What is Electronic Commerce (EC) ?

e TR 7 1
What is Inventory ?
REIRICIE RS 1

What is Manufacturing Inventory ?
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TR Tawel T8 ? 1
What is Buffer Inventory ?
FIFO "R &l qof & ford | 1

Write full form of the abbreviation : FIFO.

ared wiRd fafy &1y feees geaie & fog faan s
g7 1

For which valuation, weighted average method is

used ?
[T U U0 & AW ford S gt A § N
fepa e 2 1
Write name of an equipment used for inventory
control.
R Haro Wy a1 & ? 1
What is Retail Organisation Structure ?
fageamdt fedl &1 20 Rt & =¥ ford | 1
Write name of any two world wide top retailers.
RA & el & RS BT & T | 1
Write name of any two business houses in
India.
ferel g uTedh Tl HaER WY & AW ford | 1
Write name of any two forms of customer buying
behaviour.
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(6)
SCM & ®iE g fgr= ford|
Write any one principle of SCM.
SCM & &g g&F a1¥ ford|
Write any one advantage of SCM.
SCM & &lE g 41 ford|
Write any one limitation of SCM.
SCM & #iE & qewr ford|
Write any two participants of SCM.
SCM ¥ 4 sl & 1 AT & ?
What is role of wholeseller in SCM ?
ST TSI BIell 8| 64 ?
How customer is a king ?
B2B &l I0 &Y for |
Write full form of B2B.
ERM HexTeR & quf &9 ford|

Write full form of the abbreviation ERM.

COD &1 qUf & ford |

Write full form of COD.
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T RET o [ge! SUemIar agal i & ? 1
(@) 9% AR & (b) TIUREH &
() SUHIFT & (d) I &

The retail shop changes the format to suit the
requirement of :

(@) Wholesaler (b) Producer

(c) Consumer (d) Tax-Payer

R STE ™ ®E ¥ IUHE; AEH TIY T aeR &
SERE] (ae/3rae) 1
Retail research is the function that links the
consumer; customer and public to the market.

(True/False)

AT gl = IR 3wl o+ GEAGER AN
S LRIGIEEZEl (qeT/3raeT) 1
Closing inventory = Opening Inventory

+ Addition during the period

— Deduction during the period.
(True/False)

35. 1 ¥ & #9-91 g & AT 7 1
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(@) e °Id (b) =T HA

(c) Ffeqel g (d) SWIFd gt
P.T.O.
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Which of the following forms part of inventory ?
(a) Raw Material (b) Work-in-progress
(c) Defective goods (d) All of the above
gl GUSHA! W SCM & HHT RO & AR HAT

SIE e | (qeT/3TAT) 1
Every organisation need not to follow the steps
involved in SCM. (True/False)
scM ¥ siifas faer uay witites qMT A &
(wewr/sreT) 1
SCM includes physical distribution as well as
logistics. (True/False)
SCM & &l () =il &N T TE TZH Hog(HT 8|
(FeT/3raeT) 1

SCM is time consuming if the chain is large.
(True/False)



